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?3] Mamogrmn
: (4) Cardiogram
T B DG A i ol 908 woule.
(1) d5np&hmho
(2) dSmeEs
(3) wrgrmrae
(4) TOEDrR
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PART-I
CHILD DEVELOPMENT AND PEDAGOGY
1. A school teacher planned to study | 3. One of the developmental tasks
the development of children over a during the period of infancy is .........
period of 5 years from class [ to V. (1) emoilafisd maturdl
The appropriate method for _ . _
_ _ : (2) socially responsible behagior
conducting this study is ................ {
(1) eross-sectional study (3) towalk Q
(2) longitudinal study (4) tolearn toread aﬁ) te
(3) developmental study g e
(4) case study | \
sy
e¥ Defmve & & Doo Lo
P i SO (P TP B Bl
5 doubTreris 16 UG Reel B W
e U0t @
Rl 2omt trebonftuin. T db w589 Ko0atas Bl wiyise
A B oS 5 '
ey S R e } Attention, retention, reproduction
(1) -5 36 V) s & 3
- N ey and reinforcement are the steps o
(2) erofeasyiobisc \ e
iBJ -|1.‘E:-'—|:: 5*3‘3‘ ;;-. N 15 Eﬂrjr-
(4) Shnd \ { (1) Social learning
2 The memory., H‘g ormed in the (2) Insight learning .
mind are calle /Z] Operant conditioning
(1) Egﬂ Ingmm (4) Trial and error
ti)@mgﬂm

SN0, TRUM, DG Bebain
prtheens S o wiicss hopobe,
(1) Fowpss wigpsie

(2) wolipnsipie

(3) TGS Deselil

(4) aioty-Ehe
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5. Aptitude test is meant for
measuring the ...
(1) interests
(2) achievements
?} intelligence
(4) abilities
v et w8 oror NSNS Dotaea.
(1) esdtbiooo
(2) oo
(3) @
(4) Srasoren
6. More effective one among the
following is ......coveveues ' Q
(1) learning from a tuitiqp‘ig‘e;ér
(2) learning to learn
) learning fru;ngéhwl teacher
(4) learnitlg fr";ﬁi_':,?mxtbooks
- Beay % R S .
(D)5 Warmiiiis Teie wigigsion
) waissioe S0 oo
(3) oo ESRCPCioN ThTe egipsad
(4) SrEpenimme oo wdissiso
W-811/TET-211-EM/TM
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One of the performance tests of

intelligence is

(1) Raven's progressive matrices
test

(2) Binet—Simon test

(8) Bhatia test battery

(4) Army alpha test

b

se 3850 Dol g X ;32:*5 = (R
(1) &5, :&g;ﬂ"s;v_@:?ﬁ 158

(2) DRapladubs

(3) gIFby e

@ S5t

The concept/characteristic observed
in the sensorimotor stage of Piaget's
cognitive de*;relupment B i adisanss
(1) object permanence

(2) unidimentional thinking

(3) logical thinking

(4) problem scllh'ing

ROPE SRS DTS Ipctiol ol
ol 550" 80 Dc e R Bor o0 e
(1) 0 o

(2) O% D08 eshinid

(3) o8y et

(4) Sandeg 800,

P.T.O.
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Usually, the assessment of learning
is done during this phase of
teaching. |

(1) Pre-active phase

(2) Post-active phase

(3) Any phase

(71') Motivative phase

i FEEECTT @gid0 whoR) 200D S

(1) asrge Fow
(2) FRUrED o
(3) o

(4) (STew o

Adolescents are not ......as...5
(1) sensitive to criticism

(2) influenced byfriends

(3) involved in hero-worship

(ﬁy stable

B DOOERB . rrvesrenns

(1) Dot 100305

(2) Sprdoom PEroes ST
(3) 93 esTrgss DR

(4) gtﬁom GoLPEDd
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Gradual fading means...............

(1) continuing the help irrespective
of the progress of the child

(2) reducing the help on the basis of
the progress of the child

(3) enhancing the help on the basis
of the progress of the child

(4) developing the intelligence of
the child

B &?8%:)»’ BIITT® sevnnnrnesnse
(1) g oS sowoto Bbome NEotte
BuFbassdios

NW(2) e (9140 esrio Sistaibe Bowe
D

(3) LR (K esgroorne itaio Dot
(4) Deard (g Borobonoe

As per .the National Curriculum
Framework—?OOB, teaching is for .....
(1) the completion of the syllabus
(2) information giving

(?) construction-of knowledge

(4) development of technological
skills

OO FB@eEdS Liee-2005 @3159
55755 B EOUODID <vvvvvvvee

(1) Soromeiss $PEncioms

(2) COSVmL e UL SRS

(3) 225 JTeamoodto

(4) FSEOE TETR DODHOH
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Law of Effect was proposed by ..........
(1) E. L. Thorndike

(2) 1. P. Pavlov

(3) B. F. Skinner

(4) Albert Bandura

OB DOTRIVA BOPROVI T ...
(1) 3. 6. ERs
(2) 2.2, Po%
(4) weopfwrotioc
One of the following is not the
purpose of a group project.
(1) Cooperative learning
) Speedy learning
(3) Active learning
(4) Learner-centered learning

o8 S® (07D (TR TR0,

(1) ST eogigsionm {

™

(2) Bromr wginoiin
(3) oUW egeotoe
(4) PR 30RB WSROI

A person is not satisfied with his job.
He requires the following guidance.
(1) Vocational ;
(2) Family
(3) Edueational
/4) Personnel
B9 NS0 ot ol wE D938 ArD
QLR T S0 T
(1) D Sewey '
(2) Xev0w
(3) g
(4) DS
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16. Leisureistheright.................

A) of every child

(2) when there are no exams

(3) of bright children

(4) of educationally backward
children

DTV &8 E.ZTD@L. .............
(1) bg@oé&%
(2) $85e0BR Saied®

(3) OFFRBIBR weod

. (4) duStussniBoes

As per the Rightito Education Act—

2009, th'e\foilowing statement is

correct,

(1) Admission can be rejected for
want of T.C.

(2) Admission cannot be given after
the prescribed period

(3) Admission cannot be given

directly to age appropriate class

(4) Admission cannot be rejected for

want of T.C.

oy weEy, Bee-2000 Este . QR

SSH06" L8 3663308,

(1) w0d gpvpe B EJEsw
By, Bowsiay

(2) 8B Hd T3H BoH (EIER
IPEsED

(3) BHAists SRS BENGE® Stor e
eSS

(4) 200 EEEs>  BEY (SR
B, BOSEPE
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Mental health is defined as 'the
adjustment of individuals to
themselves and the world at large
with a maximum of effectiveness,
satisfaction, cheerfulness and
socially considerate behavior and
the ability of facing and accepting
the realities of life'. Thig definition
wasgivenby .......c.c.oeu...

(1) Crow and Crow

(2) Sigmund Freud

(3) Bernard

() Raymond B. Cattle

“@‘26?33“65215‘:::»05 Ryiben St T INGS

Jrelcins Dol eloesgd D08, SutuebonT,

Dogaiton, HoShipraisson,
PoPITHIETRORD BRESE DoS00E
Dagséuéoeﬁ) BB (EmooT CHD
90N\ S00E0? 290 ABWOWTTED cvevvererene
1 E&E

(2) aﬁo& @cm&

(3) B0

(4) Bawok a")._m§¢3§

-In the modern c_on'i:éxt, teaching is

considered as ... 4. ...

(1) a science

(2) an unplanned activity
™ anarh, :
(4) a spontaneous act1v1ty

(BRSO morssitment S%5e0 e Do

(1) eS@°ge

(2) PerdSe e
3) a8

(4) w5 ook, 2B o

- (6]
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One of the following is an effective

motivation for learning.

/Ol) Learning for rewards

(2) Learning for  avoiding
punishment

(3) Learning for rank

(4) Learning for self gatisfaction
308 TG 150 PR (ByFRHoBHR
Lﬁtﬁn.

(1) a::&'u‘éoe‘:«:e:? B isdo0

- (2) @g&a mgo:ﬁ:?é:aa_.: ese;ﬁgo:t:o

_"(3) @BQE 57 eogisioo
f‘ﬁ ey o) Lgso

'Children learn to act in accordance
with infernal ideas ra';her than
impulse' was stated by ...............

(1) Vygotsky

(2) Chomsky
(3) Piaget

(4) Bruner

ows L;S‘csrwé‘ SO woBLD PR :
CIFECTT $HOBORERR) NS BESD
1) RS,

(2) &y,

(3) woira

(4) @b
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22. For the development of language, .25,
nativist perspective was proposed by
(1) Skinner
42) Neom Chomsky
(3) Vygotsky
(4) Piaget
2B DT 3BT BOZBLD
v o p SRR
(1) &t _
(2) dBrR: D‘m‘-g‘
3) 2Dy,
(4) sasr@
23. The school of Psychology to which
Carl Rogers belongs tois ..............
@A) behaviourist
(2) structural
A3) humanistic [
(4) cognitive P, _26'
"'"5 85...53 Le o me%.) mﬁm%)-
e S oL N
(1) @SSETmarse
(2) SobuTrs TS
(4) SowmsyTEes
24. Developmentfollows the...............
(1) Gephalo-Caudal direction
42\ Cephalo-Proximal direction
«(3) Proximo-Caudal direction
(4) Cephalo-Distal direction
s ra b LRI
(1) W Fordbscgy O 03008
(2) 28 BaoB Q% 030008
(B) 50 JPrPioog BED LRoddied
(4) 28 &om SRy n.on..O.a.ou..
W-811/TET-211-EM/TM (7]
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Performing an activity for
protecting oneself from emotional
stressis known as .........

(1) emotional contagion

(2) emotional catharsis

(3) emotional»display

(4) emotional masks

ST 2B ool e Bawd Sears S%tio

meﬁJ .5 S h"\a‘gv\ w @0\.3‘& .............
(1) Sarsndscwreond

(2) amméaanq;

@ FpEasy

@) S8 sy,

One of the following theories which
says that the solution to a problem
comes out suddenly iscalled ..........
(1) insight

(2) operant conditioning

(3) classical conditioning

~ (4) tral and error

(3) G@goia QLoD

(4) owey-Ee

P.T.O.
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The suitable leadership style for a
teacher for creation of a non-
threatening learning environment
in the classroom would be .............
(1) autocratic

(2) authoritative

(3) democratic

(4) laissez faire

BEND HOE® LONRTG POPeTR) Ko

RSO3 €PEIROid TSy PR ...

(1) BTVt LY ;

(2) sR=EEO

(3) (Sesergiaogcuantd

(4) T&pob

One of the following i5 not a

characteristic of programmed

learning.

(%) Learner cannot learn.according
to his speed '

(2) Presentati-on. of content is in
small ste.pSF !

(3) Immediafe feedback

(4)*Active roles for learners in

learning at every step

308 s’ T ERoaind @S ofme
8. . ;

(1) esPe> GSATPRS B LeCIBED
(2)
(3)
(4)

DRPI0 Wiy Wiy FFTresTe Gowvel
b - n L ~h

D503 B0Rw Gowecl

50 WY etidonwes’ wgrdd

oUIE0 (B Gowsel

W-811/TET-211-EM/TM
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A student has the habit of writing-
with his right hand. Due to loss of
his right hand in an accident, he
used his left hand for writing. It is
an exampleof ..................

(1) positive transfer

(2) negative transfer

(3) zero transfer

(#) bilateral transfer

' S - . :
Dl S@;Q% ﬁséwg O'0 eseapesy &odd.

- sl o8 Do ey oo et et

2. ) 5 e . =R oy o ] e
TPl Dt WOU GRGiFNeTREs. 52

...............

(2) ..:oos‘;‘ééﬁ LSS

() g BT

(4) BF5S ederaosd)

A strategy utilized to protect the.ego
from anxiety and frustration is
calleg ...l :

(1) adaptation

(2) defence mechanism

(8) mental health

(#4) rationalization

TE0D, DOTFO ol ity sdeuss’-
S8 ANAPASKS Pl 3o
DS .o

(1) e i

(2) vEsBoe

(3) womisia esBigoo

(4) Sroolstensn
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31-36 U 320 S,y wiisede. 31 ook 36 WUk Ko B SSFgrTes ook,

T ; s st g T
I0E0EaC TRetis T ORD0ED TRIETES el S wo
SRadSoctoe How P‘u.n.c::e\e.g 20 SoRc mw oo
(50 LEGc TESSEPoBoC (@iod sdlvnvels &

-

(SN0 BEOE G‘o&:c&; Deste q’..aoc:‘omcu

31, BO0N0EY - BT O8O e 3. Ty i‘ﬂé:jm ............. .
(1) b (1) SgREois
f2) st | (2). oo
(3) & C L @)t
(4) Sol e« _. (4) Sedieeat
32. Ty Delilivolac ?ma;oﬁw¢§éﬁ% mﬂ5 o ;icsoé?s ERNPY w0 HEo Nt
Sioh? - (\-.;‘-ua_-ﬁv..asw-u o EIDCTNNID .« :3.?3‘«"_" .............
(1) &85 : (1) T o bline)
(2) &risso” (2) Wormiiiotisded
(3) a3 _ ' /(3) RS
4 &3 \N (4) SKpeedd
33. PP - 5528 B0Q . ersnne 36. (TS BB e
W) Roes 1500 & (1) @i,
P) essseh (. ?,_:\’ﬁ (2) 255
(3) wydysed : (B) Toiors (e
(4) &Byde - (4) Sr¥rsg SBHE
W-811/TET-211-EM/TM 191 P.T.O.
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37. Iobeps w0 S - T Lol dowscd. | 48.

(1) &S

(2) WS EH

(3) weeore pelels

(;L_g) Nxe
38. ‘eatopmintdthn’ - e Tt SRR, 44.

) T8 s ogetote

(2) TEsps SBLSE SHTROCIe

(3) Sorpuar RTINS BGFUoi0e

(4) HogrGe SrUpss BGmrlaiee
39. g S HoRTPOXed™ i WY | 45,

(500 B SoPTries’ g RS ...

(1) neit

(2) N

(3) ret

&4 i 46.
40, P SOID AL HTwS - B TET

YT T = PR

(1) estsmdy 3o

(2) Suowss 3o

(3) ;‘xsgé So

@) (S0 3 o
41, 4950 SERZNOTPE L8 s

(1) wenge

(2)\ TP

I(B) Bolge

e i 48.
42, 50 ST - B ol BHaD ...

(1) W§TIR o PR

(2) SoozmRow R S LB L)

3) Dol TPUS TRITRY

/4) "‘Eu“r’*..go.omwu o))
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I TP, e
(BT ToeCIe? ~ PEQCIT.
o T P
(BP0 + GO0

(:2) S + GG

@) Sorismin

: '(3)%:;- R
; (4) (DPAbLL o

T ity TEl LREDD TPl T
(1) 253% :
(2) S900p

) Ko
(4) Aemrie
$er0208500" — €0 BIPLS BTREINEe ...
(1) ws™ie 3
(2) B
(AR
(4) oo

N

(RS0 B T DO’ ~ IR0 w5,
(1) Fad

(2) @Bao

(3) T

(ﬂ) el
f

L

”.4
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- . O | G BB A s end e adn VAN
49:54 &1 308 Noved, Lo, 49 Sood 54 WU Ke (©gete
B ]

g PRV A SV E [P Lol R Vg [ — AT NS e o T L A O e o Nl el M LE  al TN A,
;;'S_J\AJ u@“ﬂ,:';uﬁ S Dol Q'M;MU{;\.}J\J n_‘«rJM, JO‘._%@ Sow RS i .;.u:p:: _’w—\-‘_-.‘ aed OO0
@~ wd o - )

Wystiotio. 5otied” SIEDBMORINE RGBTS0 TR, SO BTSN R Gotids. B4
S R TRImLOSt 2243630 (8438 TS QIes R EID. 1900 FPRIEIBFINE TP KIS (FPwoe [t
EDBR00 DY, SRrosis SIS Kot STy Jasiseesr 9350000, &+ Whsesa
IR PTG WOSENE ORTOFRNTE SOPRN0 BIHD. TR ST BT EERDES
DBERR0TD ERHEDBY DA W08 e DOHTEs. &5 idbeasaesiss, e NEEsgeste
O X 5080 Vst Bosd T ToED3 P00 5. esTH0L KBseon T FaRosno
R0 T ETad Dnedotes Wi Siast 50T f.%r*’.,ncism Kol oIl FigpoTroiETT
0505 KD 050 & 9O SoB: HEESNT JR000. (5 ISR TG EsES
S0 Ao TSR0, e om0 SORGI WO (@PRioes Nkl g TOSRIDSE Aok
PR, ' ' ]

49. R LR ol DB 52. g B0 1 (S Dioes 3o BE L.
(1) SWo 5B Q) Pvxoe
R ¢ ] v
|\ oGl E0&0
(2) 7 5B M\ 20550 5085

| s 508
A (3) (85 B0
(3) oo o o 5 js = -
) (4) BB

(4) S D80 R \ 3

}) = : _ X | 5a. POEDGHE, Tl ¥dgn 6%
50.  ‘esTmEod SDBa 10 3oy KPRt BBHO0H

(1) 75 EDBes : (1) eseozs W&ﬁ:ﬁ o wc;:tfsm HeoQ
(2) eocs LrEos ST Qe ol
(3) W80 BB e RGBS Ko
}4) i) BrBRID BT WRGUED Hed

(2) B 5DBHy
(3) st KD D .
(4) SaedS

54. bS] QPGJ‘SQBJ

5L, (SN0 grusdRadts B TS (1) esoeEos “ovHck DB Dsbrawass.
.'n l";'b -t . o Y 5‘3
BEF _ DEQB; TR0 Dee
(1) Bosisor _@)’wwg&oﬁ: DR DB Dbesstd
: V' grasnig dtssshns Sossss
R 7= (3) esTmfons SOiECt> DB Distessesd
(/) o EPSEDGy DIV DO
B LITR 0N DRHOD D5 JHbesEasd
(4) 90 (4) esompsas 53yEcs S5 <

BT ATGIR DL
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= L MmO s .’\““\5’35:5‘_;
25 i.‘";] [i.:fl‘, - H:‘CE 08. ‘w_}'\‘_}j -oe"f" e wa’gu;u\-‘ =

>

(3) 85

(4) o TS

56.

(é) gigsso

(4) Shsergisss (8w
57. (Fuarirl JmPETe SRR, Treld’
- @0 DTS @ES"&OD‘@ T
(1) mw;'@sw@
) §oc‘:ﬁa§.a"°5 S&sdeito
}B) B0 DeseTro Wy

(4) AL TR0

59. b0bOReogio -
(D3 oy
\ ﬁ 9) - Shsrgsssco
(3) Doy Bewes
(4) egcSTogres
60. ‘creS $EO'E GITRENGs JTtEe
| 503 BOSTIES WS
(1) egrgres
}2) Seme
(3) D@PEe

— | 1 1
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PART-III BOOKLET @
LANGUAGE II - ENGLISH
61. Identify the part of speech of the | 65. Match the words and their categories.
word underlined in the following Words (Jutog()riqs" :
} (a) used (d) modal auxiliaries
RpLent : ; (b) to be (e) full verb
He bought a gold ring for his wife. (c) can (f) principle auxiliaries
(1) Now (1) @ -, ®-(), ©-®
(2) Adjective (2) (b)—(), (a)—(d), (c)—(d
- (3) Pronoun /(3) (a)—(e), (b)—(D), ((-) <(d)
T @) (©—(e), @@=, G XD
(4) Conjunction N :
. | 66. Identify the correct question tag for
62. Identify the sentence that shows the the statement. . :
speaker's past habit. Ram and his wife put a lot of money
) I went to the cinema every day. in the donationbox last year.
: (1) Don'tithey?
I had to go to the cinema every A i
,2}‘ & ' (2) Db they?
day. (3Y Didef't he?
(3) T used to go to the cinema every i (4)"“Pidn't they?
Sunday. 67, "She is too weak to walk.'
(4) I gotothe cinema every Sundaiﬁ-‘f{"‘ If you change the above sentcnce.
) into a complex sentence correctly,
63. Identify the active forms Qf“«.-‘% | youwill get ........cccuenee
sentence. > N (1) She is so weak that she cannot
'She likes being admived." - walk.
: ; L (?} She is so weak and so she cannot
(1) She likes admiringothers. walle
(2) She likes to ddmiring others. (3) Sheis very weak and she cannot
(3) She would liKé if she admired walk.
Gk ' (4) Sheis weak but she cannot walk.
(4) Shé hes people admiring her. 68. Identify the sentence that c‘ontams
B an adverb clause of concession.
64. 'Anilis not taller than Ravi.' (1) Note down the date, lest you will
- forget.
If you change the above sentence, g
i 7 g ; . " (2) Although he noted down the
into the positive degree correctly, dita he Eorut b atteni i
you will get ........... meeting. ;
(1) Raviis at least as tall as Anil. (3) Although he noted down the
‘/(2) Rat 9% as tallat s ARt date,.but he forgot to attend the
i . meeting.
(3) Ravi is taller than Anil. (4) Note down the date, or else you
(4) Ravi is so tall as Anil. may forget.
W-811/TET-211-EM/TM [13] P.T.O.
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Identify the correct words in the
following blanks. :
Co-curricular activities must be
related (a) _(b) academic work
and supplement _(c) .

))() (a) about, (b) an, (¢) them
(

2) (a) to, (b) a, (c) those
(3) (a) about, (b) the, (c) these
(4) (a) to, (b) the, (c) 1t

(a) He went to the post office.

(b) He bought some. postal
stationery.

If you combine the above sentences

correctly, you will get :

(1) He went to the post office to buy
some postal stationery.

(2) He went to the post office tQ
bought some postal stationery.

(3) He went to the post officépin
order to buy some ‘postal
stationery. ] A

(4’) He bought s@éme™ postal)

stationery, sO he went to the post
office.

Read the foﬂomng four parts of a
bent(,nce
(a) Forshen verse is read aloud

(b) 1t isithe ear
)\ Which is the true test of verse

(d) Not the eye
(e) It sounds different from prose
Now place them in the correct order
to make a grammatically correct
sentence.
(1) (b) (c) (d) (a) (e)
(2) (b) (d) (c) (a) (e)

) (b) (2) (c) (e) (d)
(4) (b) (e) (o) (a) (d)

(14]
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72. While writing a precis of a passage,

you must reduce the passage to ......
(1) half its length

" (2) one-third its length

//(3) one-fourth its length
(4) one-fifth its length

?

73. She said to him, "Aréybu coming

with me or not?" ™ '

If you repopt, the above sentence
correctlysvouwill get ............
- (/1) She asked him whether he was
( Jeoriing with her or not.
kLZ) She told him whether he was
coming with him or not.
- (3) Shesaid to himif he was coming
with her. ‘ ;
(4) She asked to him whether she

was coming with him or not.

74. Identify the meaning of the phrase

underlined in the following

sentence.

The bus broke down on the ghat

road.

(1) stops

: (2) stopped due to mechanical
failure

(3) was damaged

(4) met with an accident

www.sakshieducation.com
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‘condition became enigmatic to the

www.sakshieducation.com

[dentify the synonym of the word

underlined in the following

sentence.

The patient's deteriorating health

doctors as days passed.
(1) anxious

(2) chromc

(3) puzzling

(4) wobbling

[dentify the antonym of the word

underlined in the following

sentence.

At school, the boy had an erratic

behavior. ,
(1) incredible
(2) ecstatic "

(3) fantastic
(4) right

Identify the senténge that contains

a noun clanse,

(1) Tell'm&Wwhy did you go there?

2) How he earns money 1is a
mystery'.

(3) Although he earns money, no

" one knows how. ‘

(4) Inspite of his earning money, no

one knows how.

.
|

P
G

[15]
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78. Identify the adjective clause that

can replace the underlined part of

the following sentence.

They visited a village without any

(1) Theyv visited village with ngone
living there.

(2) They, who visited @@™wilage,

"~ without any inhabftants’

(3) They visited a villige where

" there were fio ihabitants.

(4) They vi’sitéﬂ village with no

inhabitants.

79. Checkstite correctness of the two

sentences given below.
(@)
\ & opportunities to women.
i

(b)

Q
\

That company provides cgual

Great is the struggle, and great
is also the prize.

(1)
(2)
3)

s

'

(4)

Both the sentences are wrong.
Both the sentences are correct.
Sentence (a) is correct and
sentence (b) is wrong.
Sentence (a) is wrong and

sentence (b) 1s correct.

80. How do you disagree with the

negative statement given below?

Didn't you receive my e-mail
vesterday?

(1r No, I-didn't.

(2r Yes, [ didn't.

(3) No, I did.

(4) Yes, [ haven't.

o LAY
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81 to 84 : Read the following passage carefully and

given below it.

BOOKLET @

answer the questions

The first thing the children wante .d to do at the zoo was to ride an ele phant.

They were {rightened as they climbed the ladder to take their seats on the swaying

back of the huge beast. Elephants look

like awkward creatures as they moyealong

heavily, their legs covered with loose folds of tough skin and their trunk awmgmg

from side to side in search of food or drink. An elephant has great sta‘ength due to

which it can drag heavy loads with ropes, but it can also use its tr ankto pmk up qmall

>

articles such as coins or nuts from the ground.

81. Where is the elephant?
(1) At the school
(2) A£ a circus |
) At the zoo '

(4) At 'Fhe_forest

82.

=y

describes the elepha:nt,?

y.) swaying: ‘
(2). tomgh ©

3). loose

(4) awkward

W-811/TET-211-EM/TM

Which word Jing thc ) passage

83. Whaf does the elephant use to
( Sea.wh for food or drink?
l‘%b (1) Its trunk
y Its legs
(3) Its body

(4) Its skin

84. Identify the correct statement about
an elephant's skill.

(1) It cannot move heavy things
/?Z)

(3) It can see things at a great |

It can pick very small things

from the ground

distance

(4) Tt is a huge beast

(16]
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How many syllables are there in the
word, matches?
(1) one

(2) three

(3) four 1

(4) two

How many la_ﬁguage skills does an
educated person learn?

(1) four

(2) three

(3) only one

=,

af

q4) two S \ Y

How‘many sounds are theréin the
English language?

(1) forty

(2) forty=four

(3), forty-five

(T) twenty-four

88.

89.

90.

[17]
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Why are some poems included in

English Readers?

(1) Toteach poetic words

(2) To let pupils learn meter and
prosody

(3) To help pupils to read them and
enjoy

/(4) To help pupils“to/identify

figures of speech

In a language question paper, how
much weightage may be given for
‘KNOWLEDGE"

(i) about 80%

(2) about 5%

(3) about 60%

(4) about 20%

To which category does a TV belong
as a teaching aid? .
(}) Audio-visual aid

62) Audio aid

(3) Visual aid

(4) Authentic aid

P.T.O.
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PART-IV (a) ~ BOOKLET @
MATHEMATICS AND SCIENCE
91. if\/J -=1.4142, then tq;/v;.lhw of | 94. If a sum of Rs. 450 amounts to
NG % b Rs. 495 in 2 years, then the time
2442 R T 0> 8 taken to Rs. 820 to become Rs. 943
‘A V. aX . -
VN % at the same rateis ...............
B %
V{z =1.4142 @C’“’é 9+ J; ! 8. 450 e 2% soneét &, 495 © B,
S i T d e Bz Siysts 0. 820 oo 0. JAReBes>
. \- ¥ 548 .\
(1) 0.4124 o "(\ ! W ;55:.:1_-. B viiis s esiveit ( :
(9) 0.4142 ] \_"‘-'\‘ 3 (1) 2 years ""
) 0.6162 A wY ) 2% years Nt o
A - (3) 8years '\ * - s
4) 0.6126 o . "
ot (4) 31/zy aN\ iy
92. Thevalueof 0.57 18 ..cccccoverenenn '
; 13 '
=77 AT, DO - vecverrerseniens ) 95. If =— , then the value of
0.57 KZ; ._}\( 12
57 S -k e
57 { - Al P ] e e i ot Nerss
° 4 ,@ 99 L0, SOl T T e
’/ ‘a 3 o B &) AD 25 L NV
5 NO@ QN _ % U _
o"" (‘%) \0 V" \D @ 20 R ST
= . (4) 10 . @
: /{(4) 45 2% o oS
r { ‘/\
-~ 96. If A={1,2! and B=!{a,b,c} are
93. The LC-MO n:ﬁwlb 18 48 If { } i i { }
s num&ars B aiin o8 two sets, then the number of
thenatb,;,» »§m R relations from A to B ALe oo
: Ma ";“c@éu 5,31 48. Dot Bopgeo A ={1, 2} w0as B={a,b, C}_w
*é« 3 6 o s Tt BOPO RS ... Botss otoes woxd A Kook B % o
(1) 28 BOLICTRR BOPy .torssesnesienns
(2) 32 6
(3) 40 we . (2) 32
(4) 64 s (3) 48 A
) (4) 64 \;q'. f,} ;| ._
W 4 Ay %
« Y O /
Sy 4
| g’ (18]
W-811/TET-211-EM/TM +
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97. If x:y=8:9 and x:2=6:5, then

theratioofyandzis.................

Xy =8:9 SB» x:z =6:5 wod
YOOI Z OAGPD .o
(1) 9:5
: (f?) 5419
(3) 27:20
(4) 20 : 27

98. In a parallelogram ABCD, if the
angular bisectors of angle A and
angle B intersect at 'P', then the

angle APBis..................

XSO Wastineo ABCD &° A :008
B Swe DR POt Speo P e POLOW

008, SROAPE oo A
() 90° D NI
1(2) 60° S

N
(3) 45° f:-"'.f 5
(4) 30° t o

The values.of 'x

41+x

"in the equation

+ 41N are ...............

417 5 4™ 210 o5 5hoseses’ ! @oo,
¢ -

DD ... >
e
A 0,1 " 1
o
@ 11 .
3) -3, 3 ' )
W 55
4) 2,-2 (A%
%

W-811/TET-211-EM/TM
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100. If each edge of a cube is increased
by 50%,

"1ncrease in the total surface area

then the percentage

2.5 000 G0l ghenas 50% .acm:sa%
o SogrEhe 'Eba'ﬂes.mé‘s ::wbm

A1) 50%
42) T5%
(3) 100%
4) 125%

/ (‘\ ,'_‘
\ SPF N

-—\'

of
R={{z y)/'x,ye N, x+2y= 5} 5%

101. The domain relation

R:{(x,y)/x,y_e N, x+2y:5} 5

SOREGIO G, (5O <.veevveee
(1) {1, 3} A
) @ {21} S
3 {1, 2, 3) M
@ {2 9] o s R
102. A and B together* can complete a

piece of work in 4 days. If A alone
- can complete the same work in
12 days, then the days required by

B only to complete the same work

A 58050 B 0050 500 1580 4 Feros®

S0 Dok, BRI A 25,60 12 Fees’

T 0 Dok 50AD B e @ B30 90
/oL 305;:@&&335&55‘2:@......; .......

‘5‘\‘,(1) 12 (2) 10
~. (P8 4) 6
g

P.O.

www.sakshieducation.com



N
\

A

i A ‘ e (BEwe) eives t. 1,000 SERELITS

www.sakshieducation.com

103. The solution of

2(2x+3)- 10<6(x—2) for real

inequation

number 'x' 18

X Q308), T POSRES
2(2x+3)—10<6(x—2) &5
eLRI0BER0 GRA0Y), D BDOD e
(1) [4,<)

" (2) (4,¢)

@ (-, 4)

¥ @) (e, 4]

104. The. time required (in years) for
Rs. 1,000 to become Rs. 1,331 at

10% per annum compounded [

annually is

<

ol 10% o S 96 SER S

8. 1,331 eoroesth Be S°09 (:5011&:65)
1) 2
(2) 4
(3) 5

N

3 '(Z) 3
he intersec‘tibn point of all the

altitudes'of a triangle is called

105.

»centroid
(2) circumcenter
(3) orthocenter
(4) incenter

Sgowne &% & potss Dolicny
(1) KtodSose

(2) $OHB 3o

(3) wow oo

(4) wovwpgteEe

W-811/TET-211-EM/TM
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106. In a class of 26 students, 8 take tea
but not coffee. If 16 students take
tea, then the number of students

taking coffee are

................

26 300 DoFsKiseo Ko 18 VNS 88000

(W ooty T ‘T’ oFide 16 ool
Domgizes & (@hD T T ARSI
(1)'8 ,

) 18 \
(3) 16 0
(4) 6 7S

-

107. AB is alchord of a circle of radius
14 cm, I the chord AB subtends a
_rightrangle at the center 'O', then

o, \.area of triangle AOB (in sq.cm)is ....

| 14 o.0. WerLe Ko w8 Q}@O@AB oS
. & g AB oo '0' %8 oowsieo W)
:;?13 Béoeo AOBFwo0 (:s.?oo.h:.wéis)
(1) 112
(2) 98
(3) 198
(?) 56

108. The area of a triangle is 30 cm?. If

the altitude exceeds the base by

7 ecm, then its base (in cms) 18

X (©gomo @Y, Fvee 30 9.0

Sgduo Bk, & T WTrb Gowo ol
i 20.00. o 50350 TPl Gioezo TP

(?oo.b:.e:é“)

(1) 4

(2) 6

(3) 5

4) 7




109.

110.

111.

112,

W-811/TET-211-EM/TM
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If the diagonals of a rhombus are
6 cm and 8 cm, then its side (in cms)

5 Ddotnmo (c:ncza:a)é’5 e PEDHeO
ST 6 290,20, 500050 8 Do,a0. oosd

o0 gowiins e (o.20.08)
(1) 2 (2) 5
(35 7 (4) 7.5

An angle whose measure is greater
than 180° and less than 360° is
called a/an

....................

(1) acute angle

(2) obtuse angle
(3) reflex angle
(4) straight angle

Fa | L ‘\-

-1
\

2.5 %20 180° © ¥oi J%o wodatios 360°

113.

BOOKLET

2o Srlpes’ w¥ BY wastEe B
BPQowets Desd 308 T3S’ LXRs
P’ E0E08 ..uerrenes o,
(2) 5&39.125 e \
(3) e \,»/ q

(4) WoeS'ed
The ratio between the speeds\of
two tr:;ms is 7 : 8, If the second train

runs 400 kms in 4 hours then the
speed of the first train.{in km/hr)

cha%ﬁmimq&s 58 7 : 8, ToknBen
4 rione® 400 "3.50. Hasree -'.5?3‘6%3

'l
N ?méﬁ&wﬁﬁo (350./rou08’) .............
e%ﬁ@&bbm@:gﬁa% es5%0... \ @ 70) 2 75
(1) eeoySmo mz N %(3))84 (4) 87.5
At Y ¢
(2) s e ~ #5144 A student spent his time during a
(3) sorigs S'mo
= N\ day as shown below :
(4) 68 S0 N
* || Time spent | Kool ol th
A field is rectangular in shape and ||for BLECR | SCAO0L L pLapaE e
its length is 1%% times its breadth. If |— : '
its area is 2.4576 hectares, then its || Time spent |8hrs | 6hrs 2hrs | 8hrs

perimeter (in meters)is

..............

25 P00 5§L’ﬁﬁaé@"m Sod. o0 PEY |

Doy V.1 &0, 0 PTOE
245760 wond ol WwowpsTed
(2085")
(1. 600
(3) 630

(2) 620
(4) 640

In a bar diagram, the value
represented by a rectangle is
proportional to its
(V) length (2) width

(3) area (4) perimeter

www.sakshieducation.com

If the student stays in school for
6 hours, then the angle represented

in the pie diagram is

D 28 Ferd® 1ABS Sitocbo 386"

xR0,

svéss‘@bw

AL | ;e | eseows | B0

SFe0

8 rou| 6 Ken | 2 Keu | 8 Ke

[21]

£5 DR Ssmedt 6 Holl Sosoio nc‘ﬁrsgé
MorszeeEt KASS Hiaairdd ure Sme

(1) 60° (2) 90°

(3) 120° /zw 45°
P.T.O.
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METHODOLOGY
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115. The Goldbach's conjecture, 'Every
even number greater than two is the
sum of two primes' was explained by

) Bhaskaracharya
(2) Srinivasa Ramanujan
(3) Aryabhatta
(4) Shakunthala Devi

Dots> 50T BED B 10 Sogyio Tath (P
Bopg® Iesgem Toblies’ &S oy &8
SoRE G, Dstes gy ek TG
(1) 3T

(2) BOmeis TR

(3) estgied

(4) $HcHTED

116. The specification related, to, the

objective, 'uﬂderstanding' ) S

(1) verifying the fesults

(2) selecting the ’appropriate
method * :

(3) recalling the definitions

}A’) ostablishing relationships

2o TG w8 omEey GRS &0 |

o Sewefoddl

(1) $HOoreo 00T

(2) BRSBHHD Do e
(3) Duyres gad BunSTwe
(4) SERT BOLOTFEd Foows

W-811/TET-211-EM/TM

117. "Curriculum is the sum total of
student activities which the school
sponsors for the purpose of

achieving its objectives," was stated

(1) Cunningham

(2)Alberty A. and Alberty.E.

(3) H. Robert Beck and,W. Walter
Cook

(4) P. Samuel

smed Srdize PR K008
WSMQ.Q&O&D B’Ggoeo’ 0LTOY

(@ s

: (2) esef . 5O 6030 3. i

(3) 5. ool BE 1s0as taay. Tl 58
(4) ». Faerd

118. The evaluation conducted during
the Teaching—Learning process is
galled ............:

(1) summative
(2) diagnostic

/66) formative

’ ) prognostic
ST (RO BRI o0
SPTOS0 .
(1) Jotees
(2) EsTes
(8) Qowd
(4) @ProQs

L

[22]
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119. If a student derived the formula

100x7

using the Simple
PE P

R =

PTR

Interest formula J = = then the

method followed by the studentis.....
(1) inductive method

(2) analytical method

(3) deductive method

(4) synthetic method

“ R_IOOXI TR

wS A0 Rl @ ST BR
PTR ¥

Fervesgas I = 100 BeeTRg

g@hrag'é. & AT wiSoeRold £ 550
(1) esiaos
(2) e
(3) asd
(4) s5des '

(23]
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120. The fifth step in 'Herbartian steps

in preparing a Lesson Plan'is ..........
(1) presentation

A2) generalization

(

.\,.(-3) assoclation
(4) application
2.5 ST, 200 QODIPRET’ (S50
DAL W, (5006° (st P dcal
(1) St
(2) For8hsess
(3)_se3to

(4) “esisatoo

P.E.O.
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121. A pair of physical quantities having
same units are .......c..cccoveee

}X) work and energy

(2) force and work

(3) force and torque

(4) work and power

300 G o3 (Siares o FFOSTRe =
" (1) $Q woboko %8

(2) woo dasn B

(3), oo KB ¢,

(4) % %000% Faobe

122.
7.6'g em™ in kilograms will be ':
500 em® gt a0, ¥ Folsd

7.6gcem™ w‘éwﬁ R 368 msaoed?

w31 Q)

@3g

(3).3.8

(4) 3.6

W-811/TET-211-EM/TM
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The mass of 500 cm® of iron of dengTty|

1241

BOOKLET @

123. Identify the wrong statement about

comets from the following.

(1) Comets are objects coming
from outer space

(2) Comets revolve round the earth
in an elliptical orbit.

) The comét, 'Halley' appears

periodically evety 76 years.

(4) In July 1994, a comet 'Shoe-
maker—lseyy 9' collided with the
blggest planet Jupiter of our

sd\lar system.

‘?‘5 e - s
MD :o&oma Sl TTe00 L’.a.:us";;.}oa

0 o, 5 A, s ag

(1) > a».u..L\.u £20506) OBOE0 oG W3S

\

N, e

o (9) Sues oo srasio SEDTTUNS &)
(R -] - “‘15

sony
hNN\:\JO:\d

(4) $Fab-8D-9 e &heey, July 199
ST o! ubu‘oﬁ's 8T :%: ...?:‘\Jntox
2G50

124. An example for viscous fluid 1s
(1) water
(2) alcohol

}B) honey

Aoy air
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an air bubble rises from the

bottom of ?._h(- ,;i].\'.' Lo i.lH surface lllﬁ

water at a constant temperature,
then g volbme :.......coo0000
(1).1ncreases
(2) decreases

() remﬂins the same

(4) disappears in between

9 e . [ [ B
20 GEHIG BE Boiy BEBRES, DedwotsN
LRTOEPIE o0l ESCHTPO3 Thesptss, T
BB bl
(1) Heors
a2y

(2) B

N :;'{ I
(3) BPES \ \
(4) 9o%8° estgyaasonio S

. If the temperature of aboedy1s 86°F,

then its equivalent genmperature in

the Celsius scale is

L5 SO E61 86°F wooss, P08

SRR SO SIS ...
) 34°C"
(2) 30°C

/ 3) 40°C

(4) 44°C

W-811/TET-211-EM/TM 125
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h”” The value of the

— = constant.
"am}

127.

constant depends upon the ..........
a) pair of media
b)
9
d)
(1)
(2)

(3)
)A-)

Sini

wavelength

colour of incident light
refracting nature of the material
Only on a)

Only on b)

Only onra) and d)
a).b),c)and d)

= DU g DD DS esPESeE
Sinr © ¥

a) Toks CRPITe Qo

b) _8arclic oo

@) N5 TPed Solt> 2o
N\ 8IS0 Syrsned

%(1) a)SrBRo

(2) b) s

(3) a)20ddin d)

(4) a), b), c) SeBctiss d)

128. Two metal spheres of 10 kg and
20 kg masses are allowed to fall
freely from a height of 30 m. When
they are at a height of 10 m from
ground, the ratio of their potential

energy is ......
10 .77, 20 3.1 © (5503 e Both S5
Riemen 30 Dosty Mkavods Sy sessmmons.
0 4iras Kood 10 Do, & B8 St
T D BLOAHG e
/(f) «1:2
@) 1:3
(3) 2:3
4) 3:2
) P.T.0.
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129. When three cells of voltages 3V, 2V

130.

W-811/TET-211-EM/TM

and 2.5V are connected in series and
parallel, then their respective

effective emfs are

3V, 2V 200050 2.5V o emf e o 0
0P @360, SEIPOBEOTR HeGFa
Tt I $0B emf eo ST ...

(1) 3V, 7.5V
(2) 7.6V; 2V

(3),7.5V, 3V

65.5\7, 2V

An example for divalent radical
from the followingis ....... ...

(1) chlorate

/(/2) bicarbonate

(3) phosphate

(4) dichremate

BeO\BIS* Dgtedira¥ ooy ©
ERPLTOED cavveenrsensd

(1) $85

(2) BG5S

(3) oS

(4) B85

131.

S
N

132.

BOOKLET @

A gas that can be prepared by
rl(-rmmp.using hydrogen peroxide is
(1) carbon dioxide

(2) nitrogen

(3) oxygen

(4) hydrogen

S D0ZHEBIAIT Dot oo TN
(@) FHS T e

(2 Ded

s/ (3) e.-s&njais

(4) pEed
Find the values of 'X" and 'Y in the

given balanced chemical equation.

Boeiso Dowe (3od SALI BRsS’

'X, 'Y o deoden

Na,CO, + X HCI —~><§Na(}‘l + H,0+ CO,

1) 3,3

/) 2,2
/(23

[26]

(4) 3,2

www.sakshieducation.com



www.sakshieducation.com

BOOKLET @

133. Which one of the following 1s a | 135. Cartilage is a type of

correct pair? . 5 e

p (1) epithelial tissue
(1) Panchanan Maheshwari—
(2) connective tissue

Paleobotany
@) Sir T. S. Venkataraman— (3) muscle tissue
Continental Drift theory : (4) nerve tissue
(3) Birbal Sahani—Fossil plants
NI T S0 85 . st
(4) Hargobind Khorana—In vitro (1) esses Seaereo
fertilization in plants . (2) SorgS¥csereo
51 (300 IS 5863:‘;5 25 089 (3) Sl Sereoo

(1) BoTPHs Bursd - Q)cv;’:\ﬂ TR
(2) ¥6T.S. DOKTHRE ~ Potre SO
(3) DEeE555 - Dipd Bosves Y e, \| 186./ Which one of the following is not a
(4) BRDE poTvae - mg'eﬁs 3’353‘535 " correct pair?

@) T Sevoo

yobsteso s (1) Rhode Island—mule
134. Which one of the following is not a (2) Berkshire—pig

filamentous organisrfl though it j
g i (3) Przewalski—horse
belongs to the kingdom, 'Fungi' ?

(4) Karakul-sheep

(1) Yeast
(2) Slime mould | T+ (300 T3 OGS 25 8.
8) Motld

/ P (1) && 33&:05—‘.335"55

(@«) Mushroom : ;
(2) 25R0-%00

0w ma‘wé e, Tore Hodd
(B) wemrdy, - bt

(1) mé (1) o9& - B

(4) pefearn

W-811/TET-211-EM/TM [27] P.T.O.
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137. The method to be used to preserve a

special variety of mango, available
in your village, for future
generatlons IS ... .o

(¥) hybridization

g

(2) pedigree method
(3) germplasm collection

(4) genetic engineering

Do &406° ofoD e DR MFIC WY
P BP0 TOSI0 PESEIBED ..o
(1) SoltesBid

(2) SS9 Do

(3) e =yl RiSte

(4) B3 g0:d00h

138. Nucleus is not found in .. 4.. 4™,

/(/1) RBC of camel

(2) immature RBC

(3) mature RBC of lower chordates.
(4) mature RBCof higher chordates

(D 2oBED JE B Besweo

(2) 5008 B H(B TS Seva _

(3) Wi o0 SEaTeE’D K0MmS Dot
DB B Sean0o

(4), oy o S5ELROE $0rS T

B B Sesaa

BOOKLET @

139_. When plants are grown in shade,
they tend to bend towards light and
grow. This is due towy...........

(1) gibberellins
(2) auxins
- (3) cytokinins

] (4) abscisic acid

Bostyen st ol Ted 2 woh
PEIOTR00. AVITEEI0 ...
(1) eay0dSes '
2) Gy
(3) pE
(4) esDy5 esioios
14—0. HIV is spread through .............
a) blood b) ﬁoilets
¢) mosquitoes d) semen
(1) a) and b)
(2) b) and c)
a) and d)
" (4) ¢)andd)

3| AASREFSSTES L0 CET—
a) U¥o b) RIS
0 Sooeo d) g

(1) &) %s6cs b)
(2) b) Se0ctix )
(3) a) dcixn d)

(4) ¢) B d)

(28]

www.sakshieducation.com



www.sakshieducation.com

BOOKLET @

141. Which one of the following 1s not a 143. An adaptation found in deep sea

- : ‘ animalBis .....ccivseib
fungal disease? 8

: (1) weak skeleton
(1) Red rot 1n sugarcane
(2) round body
(2) Leaf blight in rice
| (3) water in cytoplasm
" (3) Blast of rice : _ . ;
: (4) air and gases in the body

(4) Tikka in groundnut
St S |Femed Jonomrtetsdd’

C @ & t

&1 80 TG Do Seon Bl T K0S 50K TSR0 N K
(1) DHED Dy Broes o etrsnd SBpdto

(2) $06% dos> B ' (2) KoogsdEcto

(3 $O6% e Bloes (Y EJeerges D>

(4) Ses8sKE% S, Bioes (), 50508 ™), Traiaspeo

Pl 144. Pernicious anemia is caused due to
142. Pacinian corpuscles are ..........%

: the deficiencyof ............ vitamin.
(1) receptors for temperature

(1) Thiamin

2) receptors for taste ) ;
@ E (2) Riboflavin

(3) receptors for light (3 Cyanocobalamin

(4) receptors for pressure (4) Ascorbic acid
FAIRRAETO ... DN U 0 B4 (300 Qe S0 wen
@) &3 e SQOIOB0D ....vveevee

(1) %osmR

(2) tod [rrsees
(2) 26508

(3) BoisSireded

(3) sPed ([worEren

(4) 15 Ersses
(4) e85 esiositnd

W-811/TET-211-EM/TM [29] PO
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The question, "Traslate F = ma
into verbal statement" intends to
test the following objective.

S,l') Knowledge

f

(2) Understanding

é) Application

(4) Skill

F = ma &3 $2056ew 056Xl
SPHed) W B s (300 O
203NN SDFIESD ...

(1) gpso

(2) esoreised

(3) &>

(4) g

BOOKLET e

147. One of the following characteristics

does not belong to a scientist.

(1) Does not accept any statement

for granted

(2) Believes in cause and effect
relationship _

(3) Desire for experimental

verification
(4) Trusts all existing, principles,
laws and theories of Science

T4 300 & ?‘Qﬁéﬁ: WOE o5 o¥eo.
(1) QTgred) BPEHCET Saodento
(2) =8R8 Woloke P08 QG N

QORGP ST
B) EFresone | dgrbonsiiomy,
IRt

8 Do w03 SowoRods (g

146. "Learning by doing and learning by
KSPEroRe,  daETORs  Ss8ckw
_ li\fing in real life situation" fa.re POTREeR HanTR
charactenstl_(: principles of ....u.....% 148, esting previoﬁs Enilbiee of
(1) lecture method students at the beginning of the
(2) lecture cum demonstrations teaching-learning processisa. ........
(3) heuristic method (1) summative evaluation
(4) project method. (2) formative evaluation
(3) diagnostic evaluation
‘Y'_J‘O Sy P Ee Kb L 2908t ) continuous comprehensive
ébég?ﬁdg&%éﬁo' G T 05D Odooy, 5O evaluation
AR oo SR80 (B0 Ptogiod® Qoegtpe oy,
(1) "essmgs 558 TR S0k’ e ERLD
(2) SRS 5858 BaroRONSe
(3) edgsem ate (1) SoSelroresie
(4) @@g 550 (2) w%rﬁf pEMGE e
(3) E%saTrtms arerEtso
(4) DBoBE S BarEO

W-811/TET-211-EM/TM [30]
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149. The component of curriculum
which emphasizes on "why do we
teach"is .......ccooieens
(1) objectives
(2) learning experiences
(3) T.L.M. |

~ (4) teaching approaches
| FEEerOsEN ¥ wcdo  ‘Doto®
SRR’ & DSEUTOS reriogd Jidgod.
! (1) egyes
(2) wngRERe
(3) Srgigss Faold
(4) 235¢ﬁ°@'°53’:5eu

N
b >
&
&

W-811/TET-211-EM/TM

[31]
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150. The first aid for "acid in eyes" is .....
(1) wash the eyes with plenty of
water and soapwater
(2) close the eyes for few seconds
}ﬂ“)’ stay in open air for five minutes
(4) clean the eyes with @ton
cloth O ,
Sos6® esiivo SEANHEIRVINS G0 238,
(1) Sotsao Jxfe WS 00 ey DS

%g Fea ot waresid

%05,
220500 TPOE (5?7 D2opes JowEd

0(4) 2ol e wged Soldo o
)

P.T.O.
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